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EETIAY BT 5ER IE¥K, AT K&E 116024
ERFEAARY H¥ R, 8 648 230026
BMIWAZ HENFR, % Db 243002)
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2%
3%

AW G R ENEEN SSE AR A KREZRIEN LERER B — A4
HHE GWN;r.s): & AERTH 0,1,2, N - 1,3 E NIE iZEHALEEYL i> i+
r(mod N)F1 i> i+ s(mod N),HF rfi s BE K% B K = s <N. # G(N;r,s) FE
kBRI 4%, G(N; 1L,s) FE b BRNAM L BE#HRE k> kA GN;r,s) AEERMLFK
WHM%. £ LERELWEM F o0 —ARELLS K RNIAN LW 7E , KEH KT
A G(N;r,s) MR WA E TRk, & 6FE «HFE LW EHEL, &4 — A
KBRS KRNAN L LRE (b - k= 1H k> OV Fuk EHEEMA KEH MHMEEM
¥ KNAW % LRk (ki - k= 2H k> 0).

D IR & Bth; RIRK; F RS KER FHK

: 0157.9 TP302 : A
0
d(N) I—ATFTREMN.Ib(N) = [ V3N 1 — 2,
EET X VRRFANT X 0B/ BH.
C G Z . k&€ Z, d(N;
G r.s)= d(N)= Ib(N)+ k,d(N;1,s)= di(N)
= Ib(N)+ ki,  G(N:;r.s) k ., G(N;
Ls) ki . N V4
AN (0); r(1) (0 1€ Z = 1)
k , £ t,
G(N: r,s): s(t) G(N(t);r(2),s(t)) k
01,2, ,N - 1, i N(t) r(t) s(2) € Z
i~ i+ r(mod N) > i+ s(modN), )
ros , K r7”Fs<N. gecd N G(N;7.5) k
(N,rs)= 1, G(N;r.s) , ; G(N; Ls) ki
G(N; r,s) d(N;r,s), N> Ok= ki ’ N,
. ki> k, N ,
d(N)= min{d(N;r,s): < = s < N};di(N)
= min{d(N;1,s): 1 <s < NJ. G(N;7,5)
. 2005-09-17; : 2007-01-22.
(60473142); (2006K J238B).
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[12]. [1] (x,) ) G(N;r,
3 (ki— k=1 s) 0 k X+ y.
k= 0); Aguilo [2]
(ki - k=1 k= 0 2 Nl
: (ki ’
_ k=1 k= 0) " o
[1] [3] , > 4
[4~ 7], ]
; K 2 LR L(N;Lh,x,y)
) Fig. 2 L-shaped tile L(N; l,h,x,y)
1 1 2 , Lhxy
N L L )
G(N; 7.5) ; L(N;Lh,x,y), khxy :
G(N:r.s) 0 k L= 2,05 x <I[,I< y <h,y <l.x< h.
s Descartes ; D(L(N;L,h,x,y))= max{h+ ' = 2,0+ i’
x r(s).y sC ). - 2, L(N:l,h,x,y)
1 (x,y) N 1.
: D(N). G(N;r,s) L
(090)9(170)7(07 1)7(270)7(19 1)9(072)9"'7(‘].9 D(N;r’s)‘ I, = L(N;l,h,x,y) N
0)7 (] - 1, 1) [ (J - i, l)v 9(17j - 1)7 (Ov D(L) — 1b(N)’ L (I’,S) ,
7 G(N;r,s) L(N;r,s)= L(N;Lh,x,
(xv y) y)
ke {O’ 17 27 ) N - 1}7 k G(N r
= Xr+ yS(mOdN) k S), d(N;V,S): D(N;V,S), d(N)>
; , , 0L pw).  GWNir.s) : L
2, N- 1 L
G( 16 3, 5) 1 G(N: 7 .5)
» N=16r= 3s= 3 158 = [3F+ 1,3+ %),
y L(t)= [3+ 2+ 1,3+ 4+ 1],L(t)= [3
417 2
=13 + A+ 2,3(t+ 1) T]. % T , [4,
10 [13 37+ 6T+ 31=U U L(r), i= 1,
518 (11]14]1
2,3, NE Ii(t), Ib(N)= 3+ i- 2
0]13|6]9]12 N 3]
* 2 L= L(N:;l,h,x,y) L
B 1 HFEME G(16 3,5) ., Ix-)=ze= 1, d(LN;Lhx,y))=
Fig. 1  Doubledoop network G(16; 3, 5)
8] 3N— _32(2)+ _120— 2.
: N,r,s g.c.d (N,r, 4 2
s)= 1, G(N; r,s) N 3 N (t)= 3f+ At+ BE I(1),
2 N L L= LN (t);l,h,x,y) L . I= 2+
, G(1%1,3) G(16 1, ah= 2+ b,x=t+ a+ b- j,z= y - x=
4)) , L(N: 7.5) . .k O y=tha+t b-j,z=x+ y= 0).ah
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xy , L k

(a+ b- j)la+ b- j+ z)- ab+

(A+ z - 2j)t+ B= 0 (1)
j= i+ k(k& Z) ;L (1,s)
g.c.d. (y,h - y)= L T
U, T+ Uh- y)= 1, k
G(N (2); 1,s), s= T - Ui -
x)(mod N (¢)).
17! a b

(a+ b- j)(a+ b- j+ z) - ab+
(6+ z — 2j)t- 26= 0
H(z,j)= (2 - z)" -

2

3[j(j - z)+ (6+ z - 2j)t— 26] s+
3m’ s s m
4 1 , 4

[3].
4 H(z.j)= (2j- z)" - 3[j(j -

z)+ (A+ z- 2j)t+ B, a b
(1 4H(z, J)
S+ 3m’ ) s m
2! nc Z, s,mE Z, n=
s+ 3m’ n p=2 p

= 5(mod 6), p =n
p= 2 p= 5(mod6)
p= 2(mod 3), 5.

5 ns m n= s+ m’
n p= 2(mod3), p
6" L= L(N;l,h,x,y) L ,
N= [h- xy, L (r,s)
g.cd. (I,h,x,y)= 1, r( s)= Th+
Up(modN), s( r)= k+ U(modN),
gced(N,r5)= 1, T U
2
3.
3 N= 3+ At+ BE
Li(1) .k H(z.j)= (Y- 2) -
3z 2) - A+ 2 20) 1+ B,

() 4= 1,3,5 ,3N - —i(%+ 2)* >
A— 2
¥+ S| 0= z<< 2%+ l,j= i+
k[i: A+—2 L 4H(z,)) S+’
5 § m 5
() 4= 246 .3 - = (%+ 1>

A— 2
[3t+ 2%,

0<< z<< 2%,j = i+

JAH(z,)) s+ 3m
s s m 5
N k .
(1, (2
N k , k L
= L(N;Lh,x,y). z=lx-)l, z= (%

2 N - S (%+ 2>

d(LN:Lhox ) = 3N = =2 (k+ ) +

1 A- 1 _1
2(2k+ 2) - 2> 3+ 5 2(2k+ 2) -

2= A+ - 24 l{i: AJ’zﬂ

1,Ib(N)= 3+ i- 2, z= (%
+ 2 k L= L(N;Lh,x,y).
0< = 2%+ Lj=i+ k ,4H(z.j)
S+ 3’ \ 4
a b (1)
3, 6= z=< 2%+ 1l,j= i+ k k
L= L(N;Il,h,x,y).
, 3
3 6, a b (1)
, L ,
N (1) k
3,
k.,kv, k < k.
1 3, 4H (z,

j), Ag: {N> 4 N l
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(6= i< k-1 k+ K i< k- 1)}
2 s S
N, )
G(N; r,s) k , G(N; 1,
s) ki

1 N = 631098, N = 3+ At+

BE Ix(t), t= 458, 4= 4,B= - 26
k=0 3N——431(2k+ 1’ >
A _ 2
[3t+ 2ﬂ , z= 0,j= 2,0= 458,
H(z,j)= 8= 2" 41, 2= 2(mod
3), 1. 5,4H(z ,j) s
+ 3w’ , 0
k= 2 | W Sk 1)
[3z+ Aéﬂz, 0< z<< 4,j= 4,¢t=
458,
H(0,4)= 5590= 5 1118, 5
= 2(mod 3), I;
H(1,4) = 3= 11" 383, 11
= 2(mod 3), I
H(2,4)= 2838= 2 1419, 2=
2(mod 3), 1;
H(3,4)= 1465= 5 293, 5=
2(mod 3), I;
H(4,4)= 94= 2" 47, 2=
2(mod 3), 1.
5,4H (z,)) s+ I’
, 2
., G(631 098 14,
1347) 1 : G(631098 1,1 368)
3 . 631098
ki— k= 2 G(N; 1,5),
631 098 1 .
z= 1,j= 3,4= 4,B= - 26,

a+ b-j)la+ b- j+ z)- ab+
( J J
(A+ z- 2j)t+ B= 0

(a+ b- 3)(a+ b- 2)— ab- t- 26= 0

t= 458 S =
(= 17, = 4,(- 17,26),(= 4, - 17),(-
26), (26, - 17),(26, — 4)}.

a= - 4, b= f+ 26, (a+ b

- 3)(a+ b= 2)— ab-t- 26= 0 ‘=
[P+ 43f+ 458,
I(f)= 2+ a= 2f’+ 86f+ 912,
h(f)= 2%+ b= 2f°+ 87f+ 942
x(f)= t+ a+ b- j= [+ 44f+ 477,
y(f)= x(f)+ z= f+ 44f+ 478
h(f)- Z(f)=- (f+ 14),

x(f) - 2A(f) = - (3°+ 128+ 1347);
g d. (f+ 14,37+ 128f+ 1347 = g c.d. (f
+ 14, 143)

f 143 seoed. (2(f) -

R(),2A() = x(f)) = g.c.d (14,143) = 1,

g.c.d (I(f), h(f), x(f), »(f))= 1
T= - 1L,U= 2, r(f)= W)+ Th(f)
= f+ 14,50 = U+ Te(f)= 37+ 128
+ 1347
6 3,{G(3°+ 4 - 26r(f),
S(f)): t= [P+ 43+ 458, r(f) = f+ l4s(f)
= 37+ 128+ 1347, f= 143e,e= 0}
1 . e= 0
G( 631 098; 14, 1 347).
2 G(3 0843548, 3107) 2
; G(3 084 354, 1, 28270) 3
3084 354 ki — k
= 1 G(N; 1,s), 3 084 354
2 :
N(t)= 3+ &- 231€ Li(t), t=
1013 , N(t)= 3084 354
3 < 5,0 z<< 2(j- 3), =
1013 H(z.j),
H(0,3) = 702, 2, 1;
H(0,4) = 6787, 11, I
H(1,4) = 3745, 5, I
H(2,4) = 705, 5, 1
5,4H (z.j) s+ 3m’

0 1
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(H(0,3) H(2,4) t
)g= 25 1P,
H(0,5) = 12874, 2, L
H(1,5) = 9 831, 29, 1;
H(2,5) = 6790, 2, 1;
H(3,5)= 3751= 22+ 3 33,
H(4,5 = 714, 2, 1.
z=3,j= 5 4= 6, B= - 231

(a+ b- j)la+ b- j+ z)- ab+
(A+ z - 2j)t+ B=0

(a+ b- 5)(a+ b- 2) — ab- t- 231= 0
t= 1013 S=
(- 38,17), (- 38,28),(17, — 38),(17,28),
(28, — 38),(28,17)}.
a= 28,b= f - 38,
S(a+ b- 2)- ab- t- 231= 0
55+ 1013,

I(f)= 2%+ a= 2f - 110f+ 2054,
h(f)= 2+ b= 2f - 109+ 1988
y(f)= t+ a+ b- j= f - 54f+ 998
x(f)= y(f)+ z= f7 = 54+ 1001,
h(f) - ()= - (f+ 8),

x(f) = 2(f) = - (3 - 166f+ 3 107);
g oe.d. (f+ 8, 37— 166f+ 3107) = g.c.d (f

+ 8,4 627)
f 4 627 ,g.e.d (2p(f)
- h(f),2(f)-x(f))= g.c.d (8,4627)= 1,
g e d (1), k(). x(f). y(f) = L
T= - LU= 2 ()= B+ T()
= f+ 8s(/)= U+ K(f)= 3~ 166/ +
3107

(a+ b-
t= -

6 3,(G(3*+ 6&- 23Lr(f),
s(f): t= f2= 55+ 1013,7(f)= f+ 8.s5(f)
= 37— 166+ 3107, f= 4627 25 1lPe,e=
0} 2 e= 0
G(3 084 354 8,3 107).

No

N(t)= 3f+ At+ B, N(t)= No,
N()E I(1). JAH(z,)) S+
3m’ s s m , a b

(1) , k L=
L(N;Lh,x,y). g.e.d (y, h = y)7# 1,
k L= L(N;lLh,x,y)

g.c.d (y,h- yy~ 1 , t

J4H(z, ) s+ 3m’

5 H(z.j)
p= 2(mod 3), p
H(z,j)= at+ b,

2g+ L ato+ b=

.)Cp?ql\L : X 4

,at+ b= ato+ b(mod p
2y .t

t= to(mod p* ?)

2y = xp™ ' (mod

t= to(modp™?) .p at
+ b 2+ 1

Lt

1
No, d(No) = k+
Ib(No),ki — k> O,
(0 i < k)

2 No
+ At+ B, N(to)= No,N ()€ L(1);

3 T= - 1,U= 2, 6,

r(ths(t), {G(N(t);r(t),s(t)):t= le+

n,e= 0}k ( G(N:r.s))

Ib(No),di(No) = k +
G(N; 1,s), No

4 H(z,j), k< j=< i+ ki,
0= =~ 2(j - i)( A= 1,3,5, 6= = 2(j
-+ 1,
(a) 4H(z,j) s+ 3m’
to H(z.,j), H(z.j)
p= 2(mod 3), p
2+ 1



310 A #EE T A ¥ FR 47

Qq]+ 1 24+ 1

prt o L,prr o,
e pEE L it pat L pr ?
gO.
(b) 4H(z ,j) s+ m’
t=to (a+ b-j)(a+ b- j+ z)
- ab+ (A+ z - 2j)t+ B= 0
(a.b), (- 1) L
= L(N;l,h,x,y)
[(t)= 2+ a= 2(t- t)+ lo,
h(t)= 2+ b= 2(t— to)+ ho,

x(t)= t+ a+ b- j=
yt)= x(t)+ z= (t— to)+ y(to)

(t- 0)+ x(0),

[(t)= 2%+ a= 2(t- t)+ lo,
h(t)y= 2+ b= 2(t- to)+ ho,
y()=t+ a+ b- j= (t— to)+ y(to),
x(t)= y()+ z= (t- o)+ x(p)

(-1 L= L(N;Lh,x,y),
t= to ge.d(y, h—- y)F 1, g.c d.
., h-y)7 1 g
g, K i< g
5 .0 & ¢ g,
(N(t);t= ge+ to,e= 0} i(0<
= k) ( G(N; 1, 5))
6 Lo g [,
{G(N (t);7(t) ,s(t)): t= le+ to,e= 0}
. di(N(1)) -
d(N ()= k - k.
3
, 815 190,
G( 815 190; 21, 1 586) 1 ;
G(815190; 1, 1 626) 3
815 190 k- k= 2.
N(t)= 3+ 2%- 175¢ L(t), t= 521
, N(t) = 815 190.
B o< 3, 6< = 2(j- 1), 1= 521

Hiz.j).

H(0,1) = 526, 2, ;

H(0,2) = 3 655, 5, 1;
H(1,2)= 2091, 17, 1;
H(2,2) = 529= 23;
H(0,3) = 6786, 2, 1;
H(1,3)= 5221, 23, 1;
H(2,3) = 3658, 2, 1;
H(3,3)= 2097, 233,

1.

H(4,3) = 538, 2, 1.

go= 4 25 17" 23 23%.

z= 2,j= 2,4= 2, B= - 175

(a+ b- j)la+ b- j+ z)- ab+ (A+
z- 2Yt+ B=0

(a+ b- 2)(a+ b) — ab- 175= 0
S={(-7-17,
(- 7.16), (16, = 7).

(a,b)E S, 1 L=
L(N;Lh,x,y)
I(t)= 2t+ a= 2(t- 521)+ b,
h(ty= 2+ b= 2(t- 521)+ ho,

x(t)=t+ a+ b- j= (t- 521)+ x(521),
y()= x(t)+ z= (t- 52+ y(521)

I(t)y= 2t+ a= 2(t- 521)+ b,
h(t)y= 2%+ b= 2(t- 521)+ ho,
y(t)= t+ a+ b- j= (t- 521)+ y(521),
x(1)= y()+ z= (t- 521)+ x(52])

1 L= L(N;l,h,x,y), t=
521 goe.d (y, h = y)7# 1, g.c.d. (y, h
-y)F 1 g,
2 35.
3 , t 3
t= 521(mod 2) = 1(mod 2),t= 521(mod
3)= 2(mod 3),¢= 521(mod 5) = 1(mod 5)
N(t)= 3+ 2- 175 1 L
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g.cd (y, h-yy~ 1, (1, s)

g= 3 =3 4 25 17 23 233,
3 (N(t); t= get+ 521, e= 0}

k(0< k< 2)
L G(N; 1,s) ,
G(N;r,s)
(16, = 7) L L(N;Lh,x,
yvyIl(t)= 2+ 16,h(t)= 2- T,y(t)= t+ 7,
x(t)= t+ 9, ,e.eod (2+ 16, 26— 7, t+

7,t+ 9= 1, T= - 1,U= 2, r=U(n)+
Th(ty= 21,s= U()+ T(n)= 3+ 23
t7 4(mod 7) ,g.c.d (N,r,s)= 1,
6,{G(3+ 2~ 175 21,3+ 23): 1> 88 ¢
7 4(mod 7)) G(N;r,s) 1

AN (2);t= Tge+ 521,e= 0)
kh— k= 2 k=1

4 870 390,
G(870 390, 19, 1 617) 1 ;
G( 870 390, 1, 10 635) 3

870 390 - k= 2.
N(t)= 3+ 4 - 94€ ID(t), t= 538
,N(t) = 870 390.
2 < 4,65 = 2(j- 2), t= 538
H(z.j).
H(0,2) = 286, 2, I;
H(0,3)= 3519, 17, 1;
H(1,3) = 1903, 11, I;
H(2,3) = 289= 17;
H(0,4) = 6754, 11, I;
H(1,4) = 5137, 11, 1;
H(2,4) = 3522, 2, I;
H(3,4)= 1909, 23, 1;
H(4,4) = 298, 2, 1.
go= 4 11 17 23.
z= 2j= 3,4= 4B= - 94,

(@¢+ b= j)ila+,. b= j+ z) - ab+

# 18(mod 19) }

(4+ z - 2j)t+ B= 0

(a+ b- 3)(a+ b- 1) - ab- 94= 0

S= {(- 10,7, (7,
- 10),(7,7)}.
(a,b)E S, 1 L=
L(N;Lh,x,y)
[(t)= 2t+ a= 2(t- 538)+ I,
h(t)= 2+ b= 2(t- 538)+ ho,

x(t)=t+ a+ b- j=
y(t)= x(t)+ z

(t— 538)+ x(538),
(t - 538)+ y(538)

I(t)= 2t+ a= 2(t- 538)+ I,
h(t)= 2+ b= 2(t— 538)+ ho,
y(t)= t+ a+ b- j= (t- 538)+ (538,
x(t1)= y()+ z= (t- 538+ x(538)

1 L= L(N;l,h,x,y), t=
538  g.e.d (y, h = y)F 1, g.c.d. (y, h
-y)7F 1 g,
2 310
3 " t 3

t= 538(mod 2) = O(mod 2), = 538(mod
3)= 1(mod 3),¢t= 538(mod 19) = 6(mod 19)
N(t)= 3+ 4 - % 1 L

g.c.d (y, h— yy~= 1, (1, 5)

g=3 19 go= 3 19 4 11" 17 23,
3 [N(t);t= ge+ 538,e= 0}
k(O A< 2)
(7,7) L L(N; 1 h,x,y):
I(t)= 2%+ T.h(t)= 2+ T,y(t)= t+ 13,x(t)
= t+ 11, sgoeod (24 T, 2+ T, t+ 11,
t+ 13)= 1, T=- LU= 2 r= U(t)+
Th(t)= 19,s= U(t)+ Te(t)= 3+ 3.
& 18(mod 19) ,g.c.d.(N,r,s)= 1,
6,{G(3+ 4 - 94,19, 3+ 3): 1> 56 ¢
G(N;r,s) 1

AN (8); t= ge+ 538,e= 0}



312 AKEBIAFFR 47

ki— k= 2 k=1 Electr J Combinatorics, 2003, 10( 1): # R2
[3]1% & A X #. —k 48 RVFF L LRE [J]. +
E Az A%, 2003,33(1): 71-74
4 [4] %tk B, 4% (b A2 L 5 8 BRI & IR i [J].
A @EAR, 1999, 44( 5): 486-490
[S14R 1% A . 28R 3URM & IR ik [J]. & B A ¥ %

_ > ).
(di(N) - d(N)= k) k W A%E, 2000,15(2): 148-152
G(N (t); Ls) ( [91) . (61 %GB, #HE. TXHH 2% FFA % T Bk
di(N) = d(N)= k(k> 0) [J]. o B BH# 4 R A S ¥4, 2002, 32(4): 399402

[7] HW ANG F K. A complementary survey on
doubledoop networks [J]. Theoret Comput Sci,
2001, 263 211-229
(1% R . T HEHNEZE JF & bt (J]. F 5 [81F F . & H,KER. KEXFAK % LIRK

F%:. E3, 1999,29(3): 272-278 [J]. FEMZ: A%, 1993,23(9): 979-992
[2] AGUILO F, SIMO E, ZARAGOZA M. Optimal  [9] AE4. k%W M % & £ TIR % [J]. % ¥4,
double-loop networks with non-unit steps []]. 2005, 48(6): 1213-1220

On tight optimal double-loop networks G(N; r,s) with non-unit step

XU Xi+ong  “?, ZHOU Jiangin’, WANG Guang yang’

( 1.Schoal of Electr. and Inf.Eng. , Dalian Univ.of Technol . , Dalian 116024, China ;
2.Dept- of Math. , Univ. of Sci. and Technol . of China , Hefei 230026, China;
3.8School of Comput - Sci- , Anhui Univ . of Technadl . , Ma anshan 243002, China )

Abstract Doubledoop networks (DLN) has been widely studied as architecture for local area
networks. A DLN G(N; r, s) is a digraph with N vertices 0, 1,---, N — 1 and 2N edges of two
types i~ i+ r(mod N), i> i+ s(modN) where KX r## s < N. If G(N;r,s) is k-tight optimal
DLN and G(N; 1,s) is kiight optimal DLN, k1 > k,then G(N; r,s) is called non-unit step DLN.
Based on the theory of L-shaped tile, a method for finding non-unit step integers is presented.
Utilizing Chinese remainder theorem and prime number theory, it also presents a method to generate
infinite families of double-loop networks with non-unit step (ki — k= 1,k > 0). As application
examples, two infinite families of non-unit step integers with &1 — k&= 2 and k > 0 are given.

Key words doubledoop networks; tight optimal; infinite family; non-unit step integer; prime

number



